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Goldilocks and the Three Bears • Worksheet answers

1. Which word is wrong in each of the sentences below? Cross it out and write the correct 
word at the end.

A. Goldilocks had lovely golden hair and looked as rich as gold.  .......................

B. “If you don’t stop being naughty, your eyes will turn blue.”  .......................

C. “I don’t believe you,” said Goldilocks, and put sugar in the sugar pot. .......................

D. “If you carry on like this, you’ll grow warts on your toes.”  .......................

Usborne English

4. Write the correct past tense form of the verbs to complete the sentences.

A. Then the three bears ......................... loud snores from upstairs. (hear)

B. They ......................... the stairs. (climb)

C. Baby Bear ......................... to cry. (begin)

D. He  ......................... so loudly, Goldilocks  ......................... up. (cry, wake)

E. She  ......................... at the three bears, ......................... her mouth and  ......................... . 
(look, open, scream)

F.  Goldilocks ......................... out of the house. (run)

3. Match the two halves of each sentence.

A. First...   ...she tried the middle-sized bowl.

B. Next...   ...Goldilocks tried the porridge in the ti ny bowl.

C. Last of all...  ...the chair broke.

D. Feeling full...  ...Goldilocks tried the great, big bowl.

E. CRACK!   ...Goldilocks looked for somewhere to sit.

2. Match the sentences with the pictures.

1. 2. 3. 

A. “There aren’t any bears here at all.”

B. “Mmm,” said greedy Goldilocks, walking in.

C. Goldilocks waited unti l no one was watching... and crept out through the back door.
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